KFA £320 BEBREY=70-40UvhHh—U—4- HHIEHERXK
— 38 —

B85 = i) X8 — A\ D = ¥
£ ® 930 XP—X —— HyF—X NTT
1 JRAERR @10:20 75U — W B AR R
Bl wms ) /HEE ®1110 NTT — )\ T JTILG
4/2 @12:00 J\ & — mta 77
B ®1260 JILY ——  HYF— N T
= e ® 900 FPFI — T Hy57—
2 PEAGZ @000 NTT  —— [tz HyF—Z
B wwy— 1 /U0+2 @11:00 J\ £ — By 57— NP—2X
4/9 @®12:00 7Ty ——  HwFr—X -+
(B) ®1300 ~P—Z —— @ @ TS
= - ® 900 NTT —  ® | O+
3 ANRZEHGR ®10:00 J\ £ A HYF—
B wxr— /) \ K ®11:.00 FTJ®¥ —— g+ " B
4/23 @12:00 "NP—X ——  HYF— A T
(B) ®13:00 75 HwE—2 FTILE
EY - " ®10:00 J\ & — FTIY 77
4 POVIAE @11:00 XP—X —— U\ T NTT
B wmsr ) /RP—=X | ®1200 77 — Otz Hyr—X
5/14 @1300 NTT — HyF— NP—Z
(B) ©14:00 # @ HwE—2 -+
= ﬁ ® 900 "P—ZX ——  FPFI @ |
2 EB{EHHG\AIZ | ©@1000 NTT — HAvF-X JIILE
B 1 wmsy )/ HyF— | ®11:00 J\ £& — M@ | HYF—
5/28 @200 JTIY —— J T NTT
(B ®13:00 HY5— +e JU R
= . ®10:00 PFIL — £ HyE—X
b TRE/ - @11:00 NTT — JILH NFP—X
WO wms_,/TTILF | @1200 HYF— 0 —— HAwF—X ® 8
6/11 @1300 "P—X —— [0 NTT
(8) ®14:00 J\ T @ 0 HYy5—
£ - I\ ®10:00 FITILH —— B B VAN A"
A 7OVIRG @11:00 NTT = —— 7l AT
B wmF— /)P T I ®12:.00 NpP—X  —— JU K O+#
6/25 @13.00 HvF— —— U T 77
(B) ©14:00 MU+ HyF—2 NP —2
ES = 1000 HY5F— ——  FPFI J\T
8 / \FV’L“@&@BG\G @11:00 00+ —  #® | FITILE
Bl weF— N/ T T— ®12:00 J\ T —_— HyF+—XZ HYF—
/9 ®13.00 "P—ZX ——  TTIY W@ M
(B8) ®14:00 NTT U HwE—2
o o ®10:00 J\ £ — AHyF—X 77
9 TREN=D @11:00 "P—X —— NTT ® |8
B wms—n/NTT ®12:00 7T —_— JTILY g+
8/13 @®13.00 H¥F— —— @ @ NTT
(B) ©14:00 MU+ A T FITILS




